[ Efficiency vs vertpos |

0.5

tr

SRPE U - S— —

efficiency vs

0.25F---eeeeedeneseeeens e o
0.2F---emees P Feeeeeeeeen ;

I
~
|

TS SRS F— S -

o

W
(ARRNRARE
R RE—

.................................................

015—+
I SERR e S :
00551 13 ity ., +
AL AT

o +0f

IS I :

o I r |
0.95: T :

1072 107 1

10 0?
TP vertr (cr%)

DOM
——— . DOM_mKFitREFit-test_1000evt
Efficiend " poMNANTEST 10008vt

N 0.2

$0.18F

[
20.16
>
e
50.14

£0.12F
a) -
0.

0.08
0.06

0.04f
0.02F

Ratio

1.0

Loeeeee EREREY ¥ | RS SRR Feeeeens

093 =20 -10 0 10 20 30

TP vert z (cm)

[ Effici

ency vs. sim PV z |

N 0.5
>

8.0.45
0.4
£0.35

Sim

o
[

efficiency

0.25

o
()

0.15
0.1
0.05

Ratio

=

et
£
!
++;
[
[ *

-

095515 10 5 0 5 10 15 20

Sim. PV z (cm)



	Contents
	Page 1


